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Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box £¢ and then mark your new answer with a cross [X.

You will need to use the data on page 2 of the Resource Booklet to answer parts (a), (c)
and (d).

1 (a) State the type of error made in error 1 and error 2.

(b) State the book of original entry used to record:

(i) goods returned to credit suppliers

P 6 7 6 5 3 A0 2 2 0

VI¥Y SIHL NI 3LIgM 1ON 0d

//

- VAWV SIHINI LM ION OQ

DO NOT WRITE IN THIS AREA

 DONOTWRITE!



%
000

0902900900 %

<

235
RRRXS
QKRS

Petotee!

bo¥e%e%e%

0RLS
OIS
SR
Dot et tetetetetetetotete
RHXR b9
2K 35

X

o
e%%
S8

%

QIR

12020700000 20 %0 2%

R
oot outotetatete!
190,000 0.0, 0.9.9,

KR KIERLERKKRL
L

(c) Prepare journal entries to correct the five errors.
Narratives are not required.
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(10)

Journal

Debit Credit
$ $

Date Account

30 April 2021
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(d) Prepare the suspense account.
(4)

Suspense Account

(Total for Question 1 = 18 marks)
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r

and ().

Bourton and Chandler

You will need to use the data on page 3 of the Resource Booklet to answer parts (a), (b)

2 (a) Prepare the appropriation account for the year ended 31 May 2021.

Appropriation account for the year ended 31 May 2021

$

Profit for the year

86 400
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(b) Prepare Bourton’s current account for the year ended 31 May 2021. Balance
s ' the account on this date and bring the balance down on 1 June 2021.

Current Account - Bourton

DO NOTWRITE IN THIS AREA

(Total for Question 2 = 19 marks)
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and (f).

O o O

|

O o O

O

Nn @ >

D

Nn @ >

D

You will need to use the data on page 4 of the Resource Booklet to answer parts (b), (c)

3 (a) Identify the accounting concept applied when:

(i) income is recognised when an invoice is raised

Business entity
Consistency
Prudence

Realisation

(i) an allowance for doubtful debts is created.

Business entity
Consistency
Prudence

Realisation

(b) Calculate the allowance for doubtful debts at 31 May 2021.

(1

(1)
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(c) Prepare the following accounts for the year ended 31 May 2021. Balance the
accounts on this date and where appropriate bring the balances down on
1 June 2021.
(10)

Trade Receivables Ledger Control Account
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(d) Identify, indicating with a tick (), the effect, if any, on profit for the year of
each activity.

(4)

Activity Increase | Decrease | No effect

Allowance for doubtful debts decreased

Allowance for doubtful debts increased

Irrecoverable debt written off

Irrecoverable debt recovered

(e) Explain why the allowance for doubtful debts is not entered in the trade
receivables ledger control account.

(f) (i) Calculate Sheila’s trade receivables collection period in days, assuming
360 days in a year.

(Total for Question 3 = 22 marks)
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You will need to use the data on pages 6 and 7 of the Resource Booklet to answer parts S
(a), (b) and (c). S

4 (a) Calculate for the year ended 31 May 2021 the charge to the statement of profit or
loss for the office:

Yo

5

5

(i) wages
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(b) Prepare the statement of profit or loss for the year ended 31 May 2021.
(12)

Arthur
Statement of profit or loss for the year ended 31 May 2021
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(c) Calculate the value of inventory to be shown in the statement of financial position
at 31 May 2021.

(Total for Question 4 = 22 marks)
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You will need to use the data on page 8 of the Resource Booklet to answer parts (c), (d)
and (e).
5 (a) Identify which one of the following decreases if the general reserve increases.
—— [ A Retained earnings
T — [J B Revaluation reserve
— [J € Share capital
—— [0 D Share premium
(b) Identify which one of the following is not shown on a statement of changes
in equity.
— [ A Debentures issued
— [J B Equity sharesissued
—— [1 € Profit for the year
— [] D Transfer to general reserve

For the year ended 30 April 2021, the draft profit of Rumred Ltd was $22 495 before
charging depreciation.

(c) Calculate the:

(i) depreciation charge

16
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(d) Complete the statement of financial position at 30 April 2021.

Rumred Ltd
Statement of financial position at 30 April 2021

(8)

Assets $ S

Non-current assets

Equipment

Current assets

Inventory 97 660

Trade receivables 25 335

122 995

Total assets

Equity and liabilities

Equity

Share capital

Share premium

Retained earnings

Total equity

Non-current liabilities

6% debentures (2030)

8 000

Current liabilities

Trade payables

15700

Bank overdraft

17 800

33 500

Total liabilities

Total equity and liabilities

J
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(e) (i) State the formula for each ratio.

(2)
Ratio Formula 2020 2021
Gross profit as a percentage 43.1% 41.8%
of revenue (margin)
Profit for the year as a 8.9% 9.6%
percentage of revenue

(i) Assess the change in profitability over the past year.

(Total for Question 5 = 19 marks)

TOTAL FOR PAPER = 100 MARKS
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